6000ZZ, 6200ZZ, 6300ZZ series qee® 0122

(2R @ppp Part 7 ~7Y>% Rolling Bearings

B B
] ]
i i
| 1
z _,%,,,g 3 _%,,,,g
1 1
e e}
R I
S—ILRT L—ILRT
7z Y4
%345 : 60002 ) — X FiE& BAfT : mm %347 : 63002 ) —XsFikE B mm
A3 i F % F AT % S % % FEA G E
@\ Cor @ Ch.
d D B (kN) (kN) d D B (kN) (kN)
60002z 10 26 8 4.55 1.97 630022 10 35 11 8.10 3.45
60012z 12 28 8 5.10 2.37 630122 12 37 12 9.70 4.20
600222 15 32 9 5.60 2.83 630222 15 42 13 114 5.45
60032z 17 35 10 6.00 3.25 630322 17 47 14 13.6 6.65
60042z 20 42 12 9.40 5.00 630422 20 52 15 15.9 7.90
600522 25 47 12 10.1 5.85 630522 25 62 17 20.6 11.2
600622 30 55 13 13.2 8.30 630622 30 72 19 26.7 15.0
60072z 35 62 14 16.0 10.3 630722 35 80 21 335 19.2
60082z 40 68 15 16.8 11.5 630822 40 90 23 40.5 24.0
600922 45 75 16 20.9 15.2 630922 45 100 25 53.0 320
601022 50 80 16 21.8 16.6 631022 50 110 27 62.0 385
* FEERTULT 1L, MALEXTSURET, OZAKY L—TDERUTY .
%346 : 62002 ) — X FiE& BT mm *6000, 6200, 630021 —RLISDEEIZHEEICELONZBANEYETOT, BEALAHLETEL.
A& i F % Fe AR T
@ Chs
d D B (kN) (kN)
62002z 10 30 9 5.10 2.39
620127 12 32 10 6.80 3.05
620222 15 35 11 7.65 3.75
620322 17 40 12 9.55 4.80
620422 20 47 14 12.8 6.60
620522 25 52 15 14.0 7.85
620622 30 62 16 19.5 11.3
62072z 35 72 17 25.7 15.3
620822 40 80 18 29.1 17.9
620922 45 85 19 315 20.4
62102z 50 90 20 35.0 23.2
420 421



